P

Abd 8 Al A

=
[if]
m

B =

20138 &= 20l A B H AE s ~ A& 10
EX: A4 ns
Ha: sEHAG KR
S9l: Xlota 22 (29l 8)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
A& WNE D 21,786,631 21,187,187 599,444
2 4,756,000
= 20,000
= 3,234,028
= 13,776,603
SsE=E&Es N 8,543,336 9,460,114 N916,778
2 4,316,000
= 20,000
= 663,400
= 3,543,936
Xl ot =2t 2] 56,736 91,089 N 34,353
& 7,800
= 48,936
Koty =22 &2 38,876 62,569 N 23,693
201 et d| 4,508 4,050 458
02 224 H| 4,508 4,050 458
OXole EX2=2 HAM=2U2
8,000 x12& 23 & 2,208
OXolse EX 2= AADEH S22
100, 000& 230 2~ 2,300
401 A& HI L 2 0HHI 34,368 58,519 A 24,151
01 Al&H| 34,000 58,000 A 24,000
OXols BEX2=Y AXAY
8,000,000 *3H A 24,000
oYX ZE |as3 2,000,000 *5JH A 10,000
03 AlIE 21| 368 519 A 151
OXlote BEXZ= AXAIE AIE 20|
34,000,000& x1.08% 368
DEZ XN Xotx=22l?fds 89 1,260 2,520 N 1,260
201 Bt 1,260 2,520 A 1,260
01 AP 22| H| 1,260 2,520 AN 1,260
o2d9s¢ 1,260
ODYZ NYXo+ B2V FH2+T
70,000& «9H «23] 1,260
Xotse OISAE ZAI 29 15,600 26,000 A 10,400
& 7,800
= 7,800
401 AlEHIZL 2 0HY| 15,600 26,000 A 10,400
& 7,800
= 7,800
01 Al& H| 15,600 26,000 A 10,400
OXots OlZAE A <
15,600, 000 = 1Al 15,600
& 7,800
o 7,800




EX: A4 ns
Ha: sE25 X
S9l: Xlota 22 (29l 8)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
AL8WE 28 XS 1,000 0 1,000
203 SR F & 1,000 0 1,000
03 AIZH =& 2 =X H| 1,000 0 1,000
02 o ALY Y25 X2
100,000 x103] 1,000
SMAE 22 5,000 5,000 0
=2 S MAa 22| 5,000 5,000 0
201 et | 5,000 5,000 0
01 AF 2t 2| bl 5,000 5,000 0
ORTRMA =, 2WL22
1,000,000& 53] 5,000
=S MAD|BHA Y| 4,031,600 4,158,025 N 126,425
2 1,066,000
= 20,000
= 295,600
= 2,650,000
Il HtE &2 &L & 951,600 950,000 1,600
2 666,000
= 85,600
= 200,000
401 Al HI L 2 0HHI 601,600 600,000 1,600
2 421,000
= 54,100
= 126,500
01 Al& H| 601,600 600,000 1,600
OJ|AHS B2&Z ST H 601,600,000 = 14! 601,600
2 421,000
& 54,100
= 126,500
403 XX SHHS K20 ™ 350,000 350,000 0
2 245,000
o=t 31,500
= 73,500
02 27| 2tS 0l CHSHCH & A HI 350,000 350,000 0
©OJ|Hag HER2 SHILAH(E
350,000,000 x14! 350,000
2 245,000
& 31,500
= 73,500
AR BEAIE EH| 2,175,000 1,326,025 848,975
201 Bt 35,000 76,025 N41,025
01 AP 22| H| 5,000 46,025 N41,025
OsgIIBAIE 212237 AH YRS
5,000,000& x14! 5,000




FAM: A4S
My =EHAs K@
CHol: Sl M A D BHE bl (cHel ® Q)
SN FHE - B(BA) - MRAY - BHES Ol &t o4 San Hl B E2
02 2=22Z 4l 30,000 30,000 0
02322 ¥ HAl 10,000, 000& * 14 10,000
OA & EHI R XHI| 20,000,000& =14 20,000
401 Al B2 28I 2,140,000 1,200,000 940,000
01 A& HI 2,140,000 1,200,000 940,000
O sZ23HIAE 885,000
OLElts s2=ELE 35,000
OJIgits =22 15,000
onls(xes) s22% 25,000
OLolts =22 E 25,000
Ouetits s22 20,000
OVE(RB) s22E 30,000
OEEXNF s2LE 30,000
OYsXNF =s2ELH 20,000
Onslts =22 E 25,000
OXsits s22 % 30,000
O3t s=2 2 H 20,000
Ogd EXXNR =22 H 20,000
O8&XNT =22 H 30,000
OMXNF s2ELH 20,000
OW&EXN T =22 H 25,000
O24X+ s2ELE 25,000
OFZXNF =22 H 25,000
OCE320ts s2&2 % 20,000
OHsits s22 % 30,000
ONuits s2&2H 20,000
O30t nX=Z &l 10,000
O=490tg uxz ¥ &g 15,000
Ooetoits uxz ¥ &g 20,000
OADIX 7 sIIEtAILHE 30,000
OMEXN+F s2ELH 25,000
OLEXNT =s2ELH 25,000
OJENS sZ22H 30,000
OHMXNF s2EH 50,000
Osgits s=2ZH 20,000
OZHENE s22E 20,000
OLE==2 22 ZHISAM 20,000
Oxeits s22 % 20,000
OEENsS =22 E 30,000
OMENE s22H 20,000
OgEN+T =22 H 30,000




AN A4S0
FM: sEEHs X
© s MAIBHEH| (&)
SA - BB B () - MM - BES Ol &t o San HmEET
O=20ts s22H 30,000
o=t=2 ¥ AFX FH| 905,000
O0IERE ¥ S22 FH| 30,000
O=40ts Sti+==2 &l 50,000
OHdE(EE) =234l 20,000
Ottt SEXNF EtH=Z & H| 20,000
OEYOtE == &bl 20,000
Oga(2E) S22 FH 50,000
O&ol2 =234l 25,000
OF=(&=2)8=23H 20,000
Ossls sgEFMHY 30,000
OUWRELNE Sti+==&H| 25,000
O24X+ Sti+==2 &l 25,000
OssXN+ ==&l 50,000
OFAHXN T E==2FH| 30,000
OsX+ Sti==2&H| 30,000
OdYI AFX HE+ 20,000
OUHX+ Sti==2t wxl 25,000
S40tS th=2&X 30,000
OoZdits sti==2& | 30,000
OAENS Ei+==F Y| 20,000
OztE0tS S22 & Y| 20,000
O=s0ts EM+=2FHI 30,000
OXADHE Bi==IH& S A 15,000
Oggits ==&l 20,000
Od&EXN+ Et+==2 &l 20,000
O&&XN+ Sti==2FH| 25,000
O8N+ Eti+=2 &l 25,000
OEUXN+ Sth==2&H| 30,000
O Z0tE =2 &bl 20,000
Ou2dXl sdEx=A&3H| 30,000
=302 =2 &Yl 30,000
OE&EXNF Sti=+==2 &l 30,000
OLEXNF ==&l 20,000
OGULFANEL AN 20,000
Out=0tS SEHEXIAY 20,000
(OECONECNRE §al 20,000,000%3H 4 60,000
OsY HE=Ad 25,000,000& =34 A 75,000
OYXH =X 22 5,000,000 *304 2 15,000
OLTHESYIIEAIE FHIAY 200,000
=clH =clAld |RX2cd X 45,000 67,000 A 22,000
& 20,000




=

i
2

HJ

25,000

M AL

45,000

20,000
25,000

55,000

A 10,000

x
1

clAld s X122l XI&
45,000,000 14

M A

45,000

45,000

20,000
25,000

55,000

A 10,000

232U =0 E AL

EURLY

300,000

150,000
150,000

480,000

A 180,000

401 AIEHIZ 2 I

UL

300,000

150,000
150,000

480,000

A 180,000

01 A& HI
OSEXF Bi==HA AL

EUNL

300,000

300,000

160,000
160,000

480,000

A 180,000

HH
02
1
mr
4n
o
nx
Pall
=
1)

Mo

60,000

30,000
30,000

60,000

401 AIEHIZ 2 CHYI

M

60,000

30,000
30,000

60,000

01 A& HI

OF 7N =53 AX(2MHA)

UL

60,000
60,000

30,000
30,000

60,000

ol AEIHE =

EUN =

500,000
400,000
30,000
70,000

500,000

401 AIEHIZ 2 I

EUNCRN=

500,000
400,000
30,000
70,000

500,000

01 A& HI

OYHsS AFX HEFZA

©
k)
x
o
e
1
P}
H
4
0
=

Ml ooR

Moo

500,000
250,000

200,000
15,000
35,000

250,000

200,000
15,000
35,000

500,000

(&)




2N
X ZH -
L= B

el

foh &4

ol

Xl
£ (Sl & &)

O Of ¥

Th i

=k

JQ J¥ om
o

-
=

SA-3H-S(3AH) - MRAS - BES Off &t 24

=

M
2
==
£l
Ol
0y

SEXNSHE 4,450,000 5,206,000 AT756,000
3,250,000
360,000
840,000

Mook

SEdESIIUML 3,000,000 2,700,000 300,000
2,100,000
270,000
630,000

Mooy

401 AIEHIZ 2 3,000,000 2,700,000 300,000
, 100,000
270,000
630,000

no

Mo oo

01 A& dl 2,980,000 2,650,000 330,000
OsZHESZFH ALY Al&HI

2,980,000,000& =14

N

,980,000
2,086,000
268,200
625,800
03 Al S THHI 20,000 20,000 0
OsZMHESSAFH ALY AIZ20UH]
20,000, 0003 » 14! 20,000

14,000
1,800
4,200

Mo ook

Moo

O
i
=]
o
oh
i
=
1z

1,000,000 1,506,000 506,000
700,000
90,000
210,000

Moo

403 A X EHHS =0l A 1,000,000 1,506,000 /506,000
700,000
90,000
210,000

Mo oo

S|
e

O 0
0
0
oo
12
O
I
o
o
Y
]

2
2
o
2
g
>
©
[

| 1,000,000 1,506,000 506,000
IHEALS

1,000,000, 000& 1Al 1,000,000
700,000

90,000
210,000

=

0

M ook

SOHEHISEXZEAY 450,000 1,000,000 /550,000
450,000

0

403 AXIEHHS =0l A 450,000 1,000,000 550,000
450,000

0

02 BII2SOHSHAAISH
OUIMIXNT=0EHOISEEY
450,000, 0003 * 14! 450,000

450,000

450,000 1,000,000 A 550,000

0

H
HU
v
ix

10,171,311 8,673,075 1,498,236




2N HENED
M E2A4A
e 28X 22 (&2 &)
SH-HH . B(SH) - HBAMY - B2 ofl &k o San HDE2
2 440,000
< 2,200,000
= 7,531,311
T2 X2 3,262,411 2,938,075 324,336
= 200,000
= 3,062,411
c2RA 22 80,976 68,027 12,949
201 et A | 68,076 55,327 12,749
01 At 22l ] 19,485 19,065 420
OBt 2H| 15,005
OzzExs e P2 6,000
OzotdM2tE & otNgE ¢ 5,000
OEzExd 225 P 230,000& »5H 1,150
OsHEgs&EH&ES 2,855
— SASKFL 535
- A3 57,000& x58+ A 285
- A4 25,000 =10 A 250
— SAD| 2 1,000,000& = 1CH 1,000
—O2H EHTU(SH, 22}
250,000& *2CH x23] 1,000
—HAHEE FU(EU,AEHZ EX)
80,000& x4 & 320
o294 70,0003 *4Y x4 3] 1,120
O3l 3,360
Osts& A (2H]) 7,000& *14¥ x30 2,940
Osts & A (2td]) 1,000& x14H *30 420
02 3524t 48,591 36,262 12,329
O™ 24l 16,071
OO, HED, LI (HLR)
1,980 x10CH x112| Ef x60 LY 13,068
OFEEYH(ES) 1,920& ~1[H x462| £ *34Y 3,003
OA&E&Hl |l 14,040
osg uxIl =2l 150, 000& *10CH 1,500
OAHED| =2l 250,000& *23] 500
OHM& &H| =2l 3,500,000& 1 CH 3,500
OXSEYH ¥ SHE %2 200,000& 23] 400
ONel oS FSCCTVEHI = X HI
162,792,000& *5% 8,140
O2Z22 YAl 18,480
ONeolE2s?Y CCTV s32=
80,000& *17 A x12& 16,320
OZZEX3 MRA A3
30,000& x12& 360




2N
X ZH -
L= B

el

=]

Mo
U Hu iz
30 ¥ K
>4 1z o

el
o

SN EB S (3H) - NEAY - BES ofl &k o San HDE2
OEZ2E4L2 AMNRA I3
150,000& ~12& 1,800
206 M = Hl 11,200 11,200
01 X2 bl 11,200 11,200
oOzwXze Mg+ 11,200
OulFIl HEY F2¢ 4,000 *400H 1,600
OHMETH(Ea2s, 22) 7
2,000,000& 2= 4,000
OZETM(SOIE,0lA2) 2
2,000,000& 2= 4,000
OEZEHUE(EXE gat2tg) 22
80,000& x20= 1,600
405 Ko SHI 1,700 1,500
01 Mt =S F SHI 1,700 1,500
oxzBE4+23 2¢ 1,700
OWFII 2 500, 000& =2CH 1,000
OJIAE ¢ 400,000 = 1CH 400
OdtAFEHD 2 300, 000& 1 CH 300
O8esiEa 300,000 415,613 A 115,
401 Al HIL 20 300,000 415,613 A 115,
01 A& Hl 300,000 415,613 A 115,
OAE T2AY D182 BX BA(BS-HIE
2E T AAIS 2 10H) 300,000
Ofsotd 2 X2 A 1,205,000 995,000 210,
401 Al HI L £ 0HHI 1,205,000 995,000 210,
01 A& HI 1,200,000 990, 000 210,
oot YrAdZ dH| 430,000
Ond 00t HLMEEZ AL 30,000
oY i~ dZ2&2 W oA~ &X
= Ak 25,000
O&tAt HEOIE CHZ HHI S A 20,000
OotY xS HLXHIALY 30,000
Oodt0l &0t ot HHIALY 30,000
Oatel YSLYFILI P LU HHI S A 25,000
OWUII =0t M2 HE S A 30,000
Og9ds MEQIE L2 HUI S AL 30,000
Og9ds 50t 2 HUIZAH 30,000
OY2 A=K7 OS2 THE & 3 A 20,000
OM&E EX0t2 HZ HHI S A 30,000
OF0F MAOIES ot S L EAS 30,000
O3glst gAats L L E I AL 20,000
OO0t statotE HZ 3 Ul S A 25,000




EX: A4 ns
MM C2HA
o szl CHe:dM &)
= - 4 14
SA - H .G (3AH) - MBAY - BES %Eﬁ HR=2
Osdl 802 H2ZHHI B A 25,000
OHE Ots0ts HLHHIZAH 30,000
Ootd 2 XA S ILEHIA 150,000
OMNE XAHOIS T2 ILEAAY 100,000
O&tA X A== HH| B A 300,000
O AXOtES NUEZIHE ZAL 120,000
ONHE 2 XA FHH| 2 A 100,000
03 Al 20| 5,000 5,000 0
OA&E S0t 5,000
tS2ot2d s X 22 207,000 0 207,000
401 Al HI L 204 207,000 0 207,000
01 Al&H| 207,000 0 207,000
ourstZ K X2l 207,000
Onrseot2d X &M 2 AH(L=15km)
4, 000& «6, 750 27,000
ODtsSotd AM 2| 2 AFH(L=4.0km)
1,800,000 x100a 180,000
Eg NS XA 6,435 6,435 0
101 @124 H] 6,435 6,435 0
04 JI2ZtHIZ2 2 NEES 6,435 6,435 0
OnEa X AF 2 2A4H| 6,435
(@)l 36,720& x6H x21JH & 4,627
O2tAH] 8,000 *6IH A *210 A1 1,008
OU=E EEZ (A, D) 800
KNGF0AHYAMA(ZER) 200,000 0 200,000
401 Al HI L E0HHI 200,000 0 200,000
01 Al&H| 200,000 0 200,000
ONENESCZEIZIAAZA 200,000
FE N Ul S A 330,000 380,000 A 50,000
401 AlEHIZL 201 Y| 330,000 380,000 A 50,000
01 Al&H| 330,000 380,000 A 50,000
OJIE NS HH|IZ A 230,000
O30t N SFE X ZAH 100,000
S22 T Ay 63,000 63,000 0
401 Al HI L 2 0HHI 63,000 63,000 0
01 Al&H| 63,000 63,000 0
O EXE Ay 9,000,000 *7JH & 63,000
S Z2dY I XA 20,000 20,000 0
401 AlEHIZL 201 Y| 20,000 20,000 0




2N
X ZH -
L= B

el

Mo
U Hu iz
30 ¥ K
>4 1z o

el

=]

cl

SN EB S (3H) - NEAY - BES ofl &k o San HDE2
03 A& 2 0HH] 20,000 20,000 0
oOx=zd8Hl I gXs 20,000
MATZ-X10095 48 KNEQUZ IHEAE 800,000 100,000 700,000
o= 200,000
= 600,000
401 Al HIL 201 800,000 100,000 700,000
o= 200,000
= 600,000
01 Al& H| 800,000 100,000 700,000
OMEE2-X1009sH KE=LUZ MNEAL 800,000
[ 200,000
= 600,000
S22 (M) =&Y 50,000 50,000 0
403 XXM S K201 A 50,000 50,000 0
02 3J| 2 S Ol CH St CH & AF R B 50,000 50,000 0
OXEYE, 2% AHXE Hx=&Y 50,000
T EAFY 4,441,400 3,650,000 791,400
T 2,000,000
= 2,441,400
2T A 1,010,000 1,590,000 A580,000
401 Al HI YL 2 0HHI 1,010,000 1,590,000 580,000
01 Al &I 1,000,000 1,580,000 A 580,000
OZEZ A 1,000,000
ORE6sH(20H0IE) S2REETEHZ A 400,000
OZE2sH(ZES~ZEH) T2EHIZ S A 100,000
OZE25d (YE-~UNY) T2 I ZA 300,000
OZT 1256 (=28N) T2 EH I ZA 100,000
OZZ 45 H (HI~EXR) 22 I B A 100,000
03 A& 20HH| 10,000 10,000 0
OAl& 20| 10,000
SE~f=22t &2 SHEZIAEZA 3,000,000 1,500,000 1,500,000
[ 2,000,000
= 1,000,000
401 Al HI L 2 0HHI 3,000,000 1,500,000 1,500,000
= 2,000,000
= 1,000,000
01 A& HI 3,000,000 1,500,000 1,500,000
OYsS~UH=m2t T2 I EZA} 3,000,000
= 2,000,000
= 1,000,000
TR 22 Al 431,400 560,000 A 128,600
401 AIEHIL 20| 431,400 560,000 AN 128,600




AN HAEnsSH
HM: CRAA
el RE ALY CERED
SH-HH . B(SH) - HBAMY - B2 o AF o San H D2
01 A& HI 431,400 560, 000 A 128,600
O KA 22| A 431,400
ORE15 62 40HA XS & A2 AH(L=23.0km)
,000& x10,350m* 41,400
OFT3aHQ 9MHA JIEH LA X ZA
350,000& 2008 & 70,000
OZTWANLESELAE(5MA) 100,000
OB T4 62 2L OFA2UAM LI Z2AH(L=2
Okm) 2,000,000& *110a 220,000
SHEEZZAY 1,550,000 615,000 935,000
SHEZZAMY 1,355,000 555,000 800,000
401 Al B 20 HI 1,355,000 555,000 800,000
01 A& HI 1,350,000 550,000 800,000
oOsHEZ=2 MY 1,350,000
O~ M (A2[101) S2EETEH 2 A} 200,000
OAMXSZ(DH205) T2 LI B A 100,000
OAMNSOIS(124205) S22 Z X2 A 290,000
O 20IS(HA202) T2 E X 2 A} 200,000
OEF-8UH(DAH202) 2 LA B A} 200,000
OHE-HE2H0ILZ1018) T2 I 2 A} 100,000
O30S (HOF303) S 2 &L H B A} 60,000
OYZE0IS(Sall201) T2 EZ X 2 AL 100,000
OFL-E32H(otY1018) T2 EH I Z A 100,000
03 Al& 201 Y] 5,000 5,000 0
OAl& 20| 5,000
SHEEZZ RA22IALE 195,000 60,000 135,000
401 Al HI L 2 THHI 195,000 60,000 135,000
01 Al &bl 195,000 60,000 135,000
OsHE T2RA22IAIE 195,000
OsHEZ2(NHE102)2 4M A HE A B AL
(L=20km) 4,000& *9,000m 36,000
OsHEZ=2(A2l101)2 4 A Jted L e
S Ak 350,000& *140& = 49,000
OsHEZZ(UHII301)2 1A OFA2HMR
J| 2 AH(L=2.0km) 2,000, 000& *55a 110,000
AAsSItns2e A 917,500 1,470,000 A 552,500
= 440,000
= 477,500
FEET 2P ENAAIS 500,000 400,000 100,000
= 250,000
= 250,000
401 Al B2 2 0HHI 500,000 400,000 100,000
k) 250,000




AN A4S0
HM: c2HH
Chelr HSXusS2NS AL (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
o 250,000
01 A& HI 500,000 400,000 100,000
OS2 P EZIMS AL (11 4) 500,000
& 250,000
s 250,000
otMetE st A X d 300,000 500,000 200,000
= 150,000
s 150,000
401 Al HI K 201 I 300,000 500,000 200,000
= 150,000
s 150,000
01 A& HI 300,000 500,000 200,000
ONZEB(NY=Z) tMstBHsH THAY 300,000
& 150,000
[ 150,000
oot g arol et 2 = ALY 117,500 40,000 77,500
& 40,000
i 77,500
401 Al HIZ 201 Y] 117,500 40,000 77,500
& 40,000
i 77,500
01 A& HI 117,500 40,000 77,500
OB OIS A lIZtRF ALY (400 L) 80,000
& 40,000
[ia 40,000
Ooeol2s 7Y W CCTVHEAE EXIALS
2,500,000 =150 2 37,500
nEsdH A 2,911,134 2,442,829 468,305
= 370,628
[ia 2,540,506
nsHY 23 405,386 439,748 A 34,362
< 8,219
s 397,167
nsdyd 29 262,878 256,518 6,360
201 et 74,498 73,278 1,220
01 At 2t 2l 1,500 1,500 0
O gBt==&H| 1,500
OHUYSBEIUEZE 2 DN 7
150,000& 104t At 1,500
02 =24l 72,998 71,778 1,220
0332 % HA 60,998
OHDIES+U &4+ AIEE 800
Ooltgs aot=E AIEZ
100,000 »12& 1,200




EX: A4 ns
MM NESHH WA
S NSUY 2Y EERED
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
OnNsSAsIIE NEANEZE M2
2,966,000& 12& 35,592
OnNsSd3sIE WEANESE I EH =
2 71,000 13000 2~ 9,230
ORocdEJIHe SMIEAIES
740,000 x12& 8,880
OgERRFEIXE WBEISEY SA REHS
2702 =10, 0000H 2,700
ODEHESD SSJLs LB
2702 x5, 00004 1,350
ONEHS DX A BtEE2 SIE
1,780 «700= 1,246
O A& & B KX Y| 12,000
Lol Al EHl SAES
3,000,000 ~4CH 12,000
203 €2 F=&d| 1,000 1,000 0
03 Al ZH =X 2= XIH| 1,000 1,000 0
OUNSHHAIZM =& 10,000¥ *10H *103] 1,000
307 2Iz2t0| A 98,380 54,240 44 140
02 QI2tA3 A X 95,680 51,540 44 140
osAlIgE =24 X 40,0002 x 1910 12& 91,680
OMH X Xte s4& WwHd X
200,000 x20CH 4,000
03 MSIHHEEX=S 2,700 2,700 0
ODNEZR2YESNEIF 2,700
401 A& HI L 204 HI 89,000 128,000 A 39,000
01 A& H| 89,000 128,000 A 39,000
oO=folct=3t0 et & Xl 32,000,000 *2JH 2 64,000
oxXdE F=XHFE;H P2 25,000
HIENd WESEZA 11,600 9,180 2,420
= 6,000
= 5,600
101 e1214| 11,600 9,180 2,420
= 6,000
= 5,600
04 J|12ZtHIZ22NEES 11,600 9,180 2,420
O8XLd DNESHITA 22
40,000 x50 x5 10,000
o 6,000
= 4,000
OHl4oL s DESEZA ol
40,0003 *8H x5 1,600
NEAX SENSLH 2 126,470 101,470 25,000
201 et 1,470 1,470 0




CHE LS9 (3H) - NBAY - B2 il HZS2
01 AFR2t2l bl 1,470 1,470 0
OMEAKO|SH 3 B4 g
70,0003 *7H x33] 1,470
307 212t0| & 125,000 100,000 25,000
05 A2t E = 125,000 100,000 25,000
OnNsEALLi E€n g
25,000,000& *5H 125,000
Hszns&&s 4,438 72,580 NB8, 142
T 2,219
= 2,219
307 212t01 & 4,438 72,580 NB8, 142
T 2,219
= 2,219
02 AI2tAAME X 4,438 72,580 B8, 142
OZUHA nEIt X & 4,438
= 2,219
= 2,219
NWECHMAIAE 22| 596,050 298, 150 297,900
HASHAOIA 22| 359,000 123,600 235,400
201 et A | 3,000 9,600 AN6,600
01 AFR2t2l bl 3,000 9,600 A 6,600
OME (HZ)4l 1,000,000 34 A 3,000
401 Al HIL 201 356,000 114,000 242,000
01 Al &bl 356,000 114,000 242,000
OAAHAHDNE 2= 200,000
ofHASHUIIA 1,000,000 2004 2~ 20,000
OHASHUI A
9,000, 000& *x 140 2~ 126,000
Oz NS AIE &I 10,000
O20ICHE A HOAIMD &S AU 10,000
FEAIE S 22l 237,050 174,550 62,500
401 Al HI L £ 0HHI 237,050 174,550 62,500
01 A& HI 237,050 174,550 62,500
OWEASI WH( 105,550
OnEdzI WX 30,000, 000& *1JH 2~ 30,000
OLEDEZD| 1 2,000,000& * 100 & 20,000
o3& a4 10,000
OQUEANSI KBS 45,550
— 2SS WA 230, 000& 204 4,600
— XS WA (34) 350, 000& =304 10,500
— XS A (444) 430,000& *30H4 12,900
— 38 HAHI LA 330, 000& *5J4 1,650
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[=pme==n/;
SdEE Ko
SHHAIEE 2el

M- E8 e (30) - ALY - B AR 0l &t San DS
—XAEgs 2 d72uA 22,000 4504 9,900
— 38 B+ 400,000 104 & 4,000
—5&) B+ 200,000 * 104 &~ 2,000
OunsSCHEAL=E EH o T M 131,500
O=3qx=X=4 [(H8He) 70,000
Cuns=98ZA# 150, 000& *60H 9,000
QuE=9 HEXH 250, 000& *50H 12,500
OF=xedM HAI 20,000
oZoECAY mct
2,000,000 *54 &~ 10,000
OEHE=HHUI(IHZ=A) 1,000,000 107 2 10,000
HAd 2= HM X 1,909,698 1,704,931 204,767
=) 362,409
s 1,547,289
HA-dEAEAS XA 580,526 574,621 5,905
=) 172,823
= 407,703
307 21201 & 580,526 574,621 5,905
& 172,823
T 407,703
09 2+HAHEXS 580,526 574,621 5,905
OHRALH ABLZ 580,526
< 172,823
= 407,703
2gHd A2 950,000 825,390 124,610
307 glztol & 950,000 825,390 124,610
09 2+ZAHEXS 950,000 825,390 124,610
FUHEEXS 900,000
oHl=dL& &4 50,000
HEHA HEXES 379,172 304,920 74,252
=) 189,586
ia 189,586
307 21201 A 379,172 304,920 74,252
=) 189,586
= 189,586
09 2+FAHEXS 379,172 304,920 74,252
OsHEHA HEXAS 379,172
< 189,586
= 189,586
s g3l 85,586 111,169 A 25,583
ZH(HEnSH) 85,586 111,169 A 25,583
SN ]| 4,200 11,200 A7,000
203 YR =&l 4,200 4,200 0




AN A4S0
M HH2AA
¢ J2d(HEnsn) (Sl & &)
SA - BB B () - MM - BES Ol &t o San HmEET
04 NI 4,200 4,200 0
ORNE2Y R4 350,000& 128 4,200
2Bt G| 30,506 33,189 A2,683
201 Let24d]| 30,506 33,189 A2,683
01 At 2teltl 28,306 30,989 A 2,683
OB+t 25,080
O= &l 3,226
02 232gl 2,200 2,200 0
O0z22= & HA 2,200
04 bl 50,880 66,780 A 15,900
202 04l 50,880 66,780 A 15,900
01 = LHA YI 50,880 66,780 A 15,900
OJlegR+=a8 0l 200,000& x16H x12& 38,400
O=2UsZ0Hl 65,0003 x16H x12& 12,480
Heags(Hddnsn) 75,264 0 75,264
HWEHAXS(HEnEL) 75,264 0 75,264
FAEELESH &2 75,264 0 75,264
701 JIEISI HEES 75,264 0 75,264
01 JIEtSIHE &= 75,264 0 75,264
OFXESEEH HES 75,264




